BIC

5x10°

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x108

108

2x10°

5

10

100

10

1

10*

1000

rmeésS1 2/(410377 5215) O 934
F T T T T | T T T T | T =
' BIC 445949 62 ABIC 0.000 AIogP 0. OOOO
i : : x 378546.62 Ax 0.000 AlogP 0.0000 T
[ ) i ]
___________ . ——9————{*_————5
L '‘ABIC —720504 1041 ( ' —4493 i
I :AXZ —720500! —122.6 —6664 |
4957 4957 5047 5215
, A , . .AC5| . , , AC.5F I , . , , I A.C5B4.F , , I
50 100 150 200
209 iterations
rme651 2/(410377 5215) O 934

e = & s e e e e 4 = e e e e e e e e e e e e e e e e e e e e e e e e e - a2-

BIC 445949 62 ABIC 0.000 AIogP 0. OOOO
Z 378546.52

Ax 0.000 ‘AlogP "0.0000

4957 4957 5047 5215
RS S A S R M i o AR
50 100 150 200
209 iterations
Fe2 17% 824+150 km/s
BLR 9400 NLR 900 km/s

209 iterations

—— - ——= mmwm- - - - = m—m = = - - - - - - - T — - —=_ - =

Bo4F T T — — — — S5 — — —]

ACsF | ACEF N
100 150 200

BIC

BLR

RefR

kdh1 12-0ct-2021 13:32



